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I Analysis of 'ov *7’s formula: 1mxy »p 5019 ,0NR Y Y019V Y3 etc.
a  (need to explain both sides of the phrase — Y01a9¥ 93 as well as Y012 PRW 52)

b suggestion #1 (’nx "7): refers to R:» (but adding his brother-in-law to his wife as traveing and falsely reported dead)

i p’m whether she married D>y 9”p (NYYa% NIMN) or 7”2 8" (NYP1 NMOR), his wife (S1) is nIMN

ii ~ »op ’7. dissents in case where she married 7”1 9"y — since nY»a% NMoR, his wife (51) is also nMoR
¢ suggestion #2 (x¥n92 pny’ 79): refers to 120

i p’m doesn’t matter if his brother-in-law was reported dead (etc.) with his wife or noyIr

it op /7. if it was his no1IR, people will think that the pPw1p were on (unfulfilled condition) — needs a V3 (->n1oR)

note: read "an’s explanation of oV *1’s approach (above outline)
ruling: (SRINVY) — 01 "3 N2YN

Challenge: 5% v (disagreeing with 17) — N2’ is not the same as YR NWR
Answerl: HRmw read »ov '7’s formula like mr "1 (above)

Answer2: 58mw ruled like »ov '3 only vis-a-vis the Y018 1R segment
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Answer3: HRmv’s distinction between nn~=wX nWR was regarding X1mnn 17’s ruling that nn2>% nMOR NNPTY NN

j  Answerd: H9Rmv’s distinction was regarding pwiTp noan (already disagreed; this position evolves from that)

I ’'n mwn - series of marriages to sisters based on misinformation and the consequences when clarified
a  case(PS=paternal sister; MS=maternal sister): man married S1 (W1), she is then reported as dead>
i he marries PS2 (W2), who is then reported as dead>
ii  he then marries MS1 of PS2 (W3 — unrelated to W1), who is then reported as dead—>
iii he then marries PS1 of MS1 (W4 — unrelated to W2), who is then reported as dead—>
iv  he then marries MS of PS1 (W5 — unrelated to W1 and W3), who is then reported as dead;
v new information — all are alive

vi consequence: may stay married to W1, W3 and W5 (full marriage, including ma»a nx> 7109) 17ox to W2/4

vii if W1 subsequently dies (indeed), may marry W2 and W4 (full marriage), mox to W3/5
II " mwn - status and effectiveness of 9+ year old 1’
a nraof 9+ is effective, but not as effective as actions of older (than 13) brothers:

i phrasing of mwn:
1 his nroais effective “at the beginning” (i.e. before they act); their’s is effective befor or after
2 his nx»a will knock the rest of them out, but their n¥’5n ,an8n AR or RN will knock him out

ii  explication:
1 his nxoais always effective, but his anrn etc. are only effective before the brothers have acted
2 any of the 4 actions performed by the brothers is effective at any time — relative to him

(a) ~>his nrn is meaningful, but weak enough that 3 (03 IR V1 PR) maintains that the v of an adult
brother is meaningful after the v3 of the 9+; according to 1327 — (03 IR V3 W’); his V1 is nonetheless not

meaningful after theirs
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